Model Question Paper GI'IE'QTHHT-H
Class: 10+2 Economics SR
Time: 3 Hours. M.M:-80

foiy f~dar (Special Instructions):-

(1).990 & ITR A THY S Y WA U UF TR SR TS 3, IR YD1 W T8 9y H1w
fera siferard 31
While answering your questions, you must indicate on your answer-book the same
question no. as appear in your question paper.

(2) TP ud F Y 4T & IR TP B WH W |

Attempt all parts of a question at one place.

Part A (MCQ)

Choose Correct option from the following-

frafafea udi & w2t faseu g+ (1316) 1x16= 16

i. The Scarcity related definition of Economics was given by ........... .

et Geelt Srefemed Y aRMTST .o RIS |

(A)Dur Marshall (B)Adam Smith  (C)Robbins (D)Samuelson
R RO A U N CONIEE @3gareE

ii. When total utility(TU) is maximym then, marginal utility (MU)will be-

Td ST F SHfHad g9 TR P ST 2t
(A)Positive (B)Negative  (C)zero (D)One
GHYAHD  (F)BUTHD @@ @O

iii The slope of Demand curve for normal goods is -
A=Y a3 & g WivT ap BT ga= B R EAT S |
(A) Downward (B) Upward (C) both A and B (D) None of the above

@ @ IW (@) (31 3R ) (@) TIPS TI

iv) If the other things remain unchanged and Price of good rises, the demand
will ...

&Fcramﬁswfsﬁunﬁaﬁ P BT TG & A AT oo B STt |

(A) Increase (B)Decrease (C) extension (D) contraction

@ s @ dH @) R () P

v) . If price of mobile phones rises and it leads to decrease in demand for sim
cards, these are -

T HIE2d B &1 S e R R H1S &1 AN HH g ST a1 I8 310 & St a3y 82
(A) Complementary goods (B)Substitution g_oods (C)Inferior goo_ds (D)AIl of the above

Gl R (@)U Ty (@afear axqu (@ IRIad it

vi. How many types of Total Cost are there, in Short Run?
3 PTA H A AT fra- YR B g 8 2
(A) 01 (B) 02 (C)03(D)05
(31) 01 (d) 02 (H) 03 (x)05

vii. TR is calculated as :-

P TTH B 0T B ST B -
(A)TR=AR/Q (B)TR=AR X Q (COTR=AR-Q (D)TR=AR+Q




BV TR=AR/Q (@) TR=ARX Q @ TR=AR-Q (G TR=AR+Q

Viii . In perfect competition the price of good is determined by -

quf yfaaifirar ek # 9vg @ Siaa &1 Fulor fearsmare -

(A) Market Demand  (B) Market Supply (C) Both (A &B) (D) None of the above
E)IERAT @ IWRYS @) @) (@) s i Tal

ix. Any Economy which has economic relationship with other country is known as :-

Tt rferawt Rt onfife Ty g M F AU AT IA Fed &-

(A) Open Economy (B) Mixed Economy (C) closed Economy (D) Self-reliant Economy
(30) Geft srdegawn (9) o srfomawn (W) A spferawa (@) S@f iR srfegawi

x. Shrdha’s mother is a teacher, she also teaches Shrdha at home, how would you treat

this while calculating national income and domestic income?

(A) It will be included in the national income, but not in the domestic income.

(B) It will be included in domestic income, but not in the national income.

(C) It will be included in domestic income as well as national income.

(D) It will neither be included in domestic income nor in the national income.
45T P ATATS TP SLATIST 3§, 98 Y51 Dt R W H Uerd &, TP 319 FT 701 ¥l §¢
3T 39 Foi AfEfrd HRAI-

(3) 39 BT 3 | WiRra fapa Siem, Wi W o B LK |

(@) T T 3 | AR o Sirwam, v’ NREERE

(9) S TR 31 & FIY-I1Y AP 31 H o e |

(@) T A1 A IR 3 H SR A7 51 AT 341 H FfeAfer fobam S |

xi. Which one is the following is the Central Bank of India?
H ¥ HRA 3T $51T 8% DI A 82
(A) State Bank of India (B) Bank of India (C)Reserve Bank of India (D) Union Bank of India
(3NRe ¥ 3w efea  (@)dP 3iTh e @)Red 9 ot fan (@)gf o 9@ it Sfear
xii . Full bodied money is that money whose money value is........... the commodity value .

quieTa HaT 9 3T & RreT AiiE® 9ed a4 ... AT

(A) notequalto  (B) less than (C) more than (D) equal to
GNP RR TS @ FPFH (@) AHUD (@) P R

xiii. Formulato calculate Marginal propensity to consume(MPC) is-

Hraid STHNT Ry F1d A ST -

AMPC=AC/AY  (B) MPC=C/Y (C)MPC=S/Y  (D)MPC=f(Y)
(3)MPC=AC/AY (@) MPC=C/Y (d) MPC=SIY  (G)MPC=((Y)

xiv. If the value of export exceeds the value of imports, the balance of trade of country will be-

o Frafa BT G smad & Jod & 3 8 6t 3% 1 AR A9 ghar -

(A) Unfavorable (B) in equilibrium (C) favorable (D) all of the above

@) ufagd (@) Fgferd @) SIRA (@) IWiad qft

Assertion (A) and Reason (R).

DIRECTIONS:- for the question 15 to 16, In each of the questions given below, there are two statements

marked as Assertion (A) and Reason (R). Mark your answer as per the codes
provided below:

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) Alis true but R is false.

d) Alis false but R is true.




e) Both are A & R are false.
B YT Td a9,
Adw - Rofifad 15-16 Ui A ey AP 91 HRUR R MR|
= fou U foeedl 7 @ U} fawey &1 9gq B

37) fBYT (A) 3R BRUT (R) ST A & AR BRI (R) 3BT (A) DT Te! WHIHT gl

) 3fHBYT (A) 3R PRI (R) THI T & 3R BRI (R) HHBUT (A) BT Te! WHIHR 81 B
T) NBYT (A) T B AfbT PRI (R) T g

T ) AHYT (A) TTAd § Al PRI (R) T B

) 3T 3y (A) 3R BRI (R) TaAd © |

xv. FUHYT (A): Money flows are opposite to the Real flows.
Y418 IRdfad UaTg & fausid giar g1
PRUT (R): Money flows are in respond to the Real flows
RIS YdTE & g5t B A arg fhar man g |
xvi. SfY®YT (A): There is an equilibrium in the economy when, AD = AS.
SreforaT B e BId1 € e Pl AT = ST gfel & |
PIRUT (R): AD = As, When the intended production in the economy is equal to the
intended purchase.
$A AN = $d i, oa srforawyt | 3 Idred sfasd TRie & sRIeR g1

Part B. (Micro Economics)

2. Attempt any three questions. ®IgdiF U HY 2 X3 =6

(i) State two exceptions to the law of demand.
AT & g9 & @l 3uarg Jdsu
(i) What are explicit costs and implicit costs?
Y AT AT Afgd ATt o g7
(iii) What is the difference between returns to a factor and returns to scale?
I S Ufawe g T F ufawe J o SR 82
(iv) ITTfar g Faid ST T 319 1 gHE 82

What do you mean is utility and marginal utility?

3. Attempt any four questions. aﬁ's:il'l'{ﬂ%faﬁ'l
(i) 3fes v & o1 HRUT 2

What are the causes of Economic Problems?

3x4=12

(ii)Calculate elasticity of demand from the following table:

W AT $I FIAA A [T B
Price per unit(%).uﬁgiﬂéaﬂ'ﬂ?l(f). Quantity demanded kg 'FIT‘ﬁTIé'FIHT
5 10
4 12
(iii) Complete the following table:
g aifere &
IS BT SHISAT $d arTd 3Nd ARTd IdHid arTd
Units of Output Total Cost Average Cost Marginal Cost
1 - 9 -
2 - 8 -
3 - 7 -




[ S RS R :

(iv) What is the effect of floor price? Explain with diagram.

A P YU T 82 IR gl Siforg |
(v) Match the Following :
Revenue SITH Formula A
1 AR 3f19d 31T ATR/AQ
2 TR $d 39 AR X Q
3 MR SHHid 3 TR/Q

4. What is perfect competition market? Explain its any three features. 4x1=4
quf HfaaifiTaT SR 1 82 39! fawa! <1 fa=iwarait &1 quf Sifre |
or
Describe any four factors affecting demand.

T Y YA B4 aTd gl TR HRSB! I TRAT HIY |

5. Attempt any two questions. Hﬁéﬂﬂﬂﬁl ; 5x2=10

(i) Explain pictorially the degrees of the price elasticity of demand.

O & SiAd drd B A0} BT A SRS B

(ii) Explain the law of variable proportion with the help of diagram.

Hed Sed SIUTd & aH 1 Ffs areT &< |

(iiiy Explain with diagram the impact on equilibrium price, when both supply and demand increase
Simultaneously.

off SR T F U WY g B W TRId FHd R 1 uHT TS Hies SARSAT Hifoid |

Part C. (Macro Economics)
6 .Attempt any three question of the following: 2x3 =6
FafaRad usl o 9 oI5 dF B

(i) If total income is ¥ 8000 and saving is ¥ 4000 then find the value of APC?

I 3T 8000 ¥ T FIT 4000 T B Y ST IUHNT Ugfal (APC) T BT |
(i) What are the two measures to control budgetary deficit?

SO T1e Y R B & < Sum e
(iii) Write down the two measures to correct adverse balance of payment?

Yfdpe YT e &I GURA & &1 IUT ford 2
(iv) Distinguish between Monetary flow and Real flow of income.
31T & WS TaTg quT aRdfadh FaTg & SR WY Hifor |

7 . Attempt any four questions of the following. 3 x4=12
A Y 35 IR U A
(i) Calculate the Net Domestic Product at factor cost From the following data:

9 3iwe! &1 TRl ¥ AU ANTT UR Y TN ST DI U BHIforT :

items W& ZCrore (THIIS)




Gross National Product at market price 1500
TR S TR TP AP SATG

Indirect taxes SIUIE BT 50
Subsidies & AgraaT 30
Net factor income from abroad TR | WGl Y[ WU T 15

(i) What are the main objectives of the budget?

Fole & TE Ie=T &1 872

iii) Differentiate between direct taxes and indirect taxes.
TE PR R AT PR T SR W IR |

(iv) What do you mean by foreign exchange market and what are its main functions?
fac=h faf i SR @ oy o7 THEa § TUT S9% UW &) S 1 87
(V) Match the Following ( forem &) :

Column A Column B
1 AY/ Al 1
2 MPC+MPS AC/ AY
3 MPC K

8. What is Money? Explain its main functions.

a1 P2 Bed 82 39D T BT Bl aUH BT | 4x1= 4

Explain the importance of public expenditure.
I & Tgd B qUH DI |

9. Attempt any two questions. aﬁ's‘aﬁueraﬁl : 5x2=10

(i) Explain the income method to measure the national income.
P 31T Y AR F o1 Ay 1 auf B |
iy The income of an economy is 3000 crore rupees and marginal propensity to

consume is MPC = 0.75. If a country invests 200 crore rupees, then find out the
gross national income?

TP AR B 311 3000 FHRIS TUY § 3R Wi IuFT ygfy (MPC) = 0.75 8 1 afg
T& XM 200 PRI YT BT (IR I §, AN Tha AP 31 J1d. Piforg 2

iii) Write at least five differences between Central Bank and commercial Bank?

P 9 d ARG §b A HH I HH Urg 3R fIfu |




Blue Print 12th Economics

Micro Economics

UNIT | Name of the Unit Marks I,T:f.is
Total
1 2 3 4 5 Marks
1 Introduction 1 0 1 0 0 4
2 Theory of Consumer Behaviour 4 1 1 0 1 14
3 Production and cost 2 2 1 0 1 14
4 Firm under perfect competition & Market 1 0 1 1 0 8
Equilibrium
8 6 12 4 10 40
Choice
Theory of Consumer Behaviour 0 0 0 1 0 4
Production and cost 1 1 0 0 5
Firm under perfect competition & Market
Equilibrium 0 0 0 1 5
Macro Economics
Total
UNIT | Name of the Unit Marks Marks
11 2 |3 4 ) _
0 - - - -
5 National Income Accounting 2 0 1 - 1 10
6 Money and Banking 2 - 0 1 0 6
7 Determination of income and Employment 2 1 1 0 1 12
8 Government Budget and the Economy 1 1 1 - 0 6
9 Open Economy Macro Economics 1 1 - - 6
8 6 12 4 10 40
Choice
National Income Accounting 1 2
Money and Banking 1 5
Determination of income and Employment 1 3
Government Budget and Economy 1 4




Part | Unit| Unit Name Deleted
No.
Micro 4 Firm under perfect competition ° Monopoly () complete(
* | & Market o .
Equilibrium (Noncompetitive e Monopolistic Competition )complete(
Market)
Macro 9 Open Economy Macro

Economics

)Exchange rate Management —

International Experience(

Fixed Exchange Rate System R faf g o= voment
The Gold Standard system) TIUTHT YoTTet! (

The Bretton woods system) forie=T q8d TR (
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